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QUESTION 1

Which three statements are true about NetApp protocols interoperability? (Choose three.)
A. A file can be simultaneously accessed by NFS and CIFS.

B. Agtree must be Mixed Mode for concurrent NFS and CIFS access.

C. A LUN can be accessed by eitheriSCSI or FCP.

D. UNIX users are mapped to Windows users.

E. Onetoone mapping exists between NFSstyle and CIFSstyle file permissions.

Correct Answer: ACD

QUESTION 2

Which two products allow for near synchronous replication at the volume or LUN level? (Choose two.)
A. SyncMirror

B. SnapMirror

C. SnapVault

D. ReplicatorX

Correct Answer: BD

QUESTION 3

In which three technical application markets does NetApp have a strong presence and value proposition? (Choose
three.)

A. oil and gas

B. software development
C. electronic design

D. streaming media

E. content filtering

Correct Answer: ABC

QUESTION 4



What happens to the SnapMirror function in synchronous mode when the mirror fails to complete in the specified
parameters?

A. The SnapMirror function stops.

B. The SnapMirror function becomes asynchronous.

C. The SnapMirror function drops the current blocks and continues.
D. The SnapMirror function switches to vaulting mode.

Correct Answer: B

QUESTION 5

Which two NetApp replication products support heterogeneous file service environments? (Choose two.)
A. Virtual File Manager

B. Open SystemsSnapVault

C. SyncMirror

D. SnapMirror

Correct Answer:. AB

QUESTION 6

From which Web site can partners access customerready PowerPoint presentations and demonstrations?
A. PartnerCenter

B. PartnerEdge

C. NOWToolChest

D. CustomerEdge

Correct Answer: A

QUESTION 7

ReplicatorXis a disaster recovery solution based on replication technology.

A. heterogeneous asynchronous
B. heterogeneous synchronous

C. homogeneous asynchronous



D. homogeneous synchronous

Correct Answer: A

QUESTION 8

What is a function of NetApp FlexClone technology?

A. It allows copies of database data sets with no additional space usage.
B. It shrinks volumes and LUNSs.

C. It compresses databases.

D. It validates every block written by the database to the storage.

Correct Answer: A

QUESTION 9

Which capabilities does NetApp ONTAP GX provide to achieve high performance for render and animation server
farms?

A. NWay Clustering and Global File System
B. Stretch FabricMetroCluster and WAFL
C. Clustering withSnapMirror Sync

D. MetroCluster and RAIDDP

Correct Answer: A

QUESTION 10

Snapshot schedules can be defined within Data ONTAP for which three time intervals? (Choose three.)
A. hour

B. day

C. week

D. month

E. minute

Correct Answer: ABC




QUESTION 11

Which two statements are true about Symantec NetBackup integration with SnapVault? (Choose two.)
A. Unpacking anddeduplication of the tar stream is done by Data ONTAP.

B. NetBackup sends only changed blocks to the SnapVault target.

C. Data ONTAP allows NFS and CIFS access to the backup.

D. Policy Schedule is controlled by Data ONTAP.

Correct Answer: AC

QUESTION 12

What is the business value of FlexCache in a technical application environment? (Choose two.)
A. It increases overall performance while keeping administration costs to a minimum.

B. It provides multiple writable copies of data to geographically distributed locations.

C. It provides a method for prioritizing quality of service over the WAN.

D. It provides a method for prioritizing memory usage on the storage controller.

Correct Answer:. AB
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